RAMAKRISHNA MISSION VIDYAMANDIRA
Belur Math, Howrah - 711 202

ADMISSION TEST - 2023
ZOOLOGY (Honours)
Date : 15-07-2023 Full Marks : 50 Time: 3:00 p.m. — 4:00 p.m.

Instructions for the candidate

Answer all the questions given below. Tick (v') the correct option in the OMR SHEET. The tick must be very clear—
if it is smudgy or not clear, no marks will be awarded. Each correct answer carries 2 marks. For every wrong answer
0.5 mark will be deducted.

1. There are some statements given below:
A) India is one of the mega diversity countries
B) India is a part of 4 biodiversity hotspots
C) India has 18 biosphere reserves
D) Nilgiri is the largest biosphere reserve of India
Which of the above statements are correct?
a) onlyB b) AandB c) ABC d) All are correct

2. State the correct order of ecological organization:
a) population - community ->landscape = biome - ecosystem
b) population = community - ecosystem - landscape = biome
c) population - ecosystem ->community = landscape - biome
d) population - community = ecosystem = biome - landscape

3. Which of the following categories was not proposed in Linnaean hierarchy?
a) Class b) Cohort c) Family d) Kingdom

4. The major reason for the depletion of Biodiversity is:
a) Habitat loss b) Hunting
c) Overexploitation d) Global warming

5.  Match the column:

Column I (common name) Column 11 (Phylum)

A. Hookworm 1) Annelida

B. Pork Tapeworm ii) Platyhelminthes

C. Earthworm iii) Arthropoda

iv) Aschelminthes

D. Caterpillar

a) A-iv), B-ii), C-i), D-iii) b) A-ii), B-iv), C-i), D-iii)
¢) A-iv), B-ii), C-iii), D-i) d) A-ii), B-iv), C-iii), D-i)
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6.

7.

10.

11.

Gamma taxonomy includes:
a) Characterization b) Nomenclature c) Classification d) Evolution

Match the column:

Column | Column 11
A. Kupffer cell i) Brain
B. Mesangial cell i) Liver
C. Microglial cell i) Skin
D. Langerhans cell  iv) Kidney
a) A-iv), B-ii), C-i), D-iii) b) A-ii), B-iv), C-i), D-iii)
c) A-iv), B-ii), C-iii), D-i) d) A-ii), B-iv), C-iii), D-i)

Which of the following set of antibodies are responsible for providing Natural passive immunity?
a) IgD and IgE b) IgM and IgA c) IgAand IgE d) IgGand IgA

Which of the following is not an autoimmune disorder?
a) Rheumatoid arthritis b) Multiple Sclerosis
c) Influenza d) Chronic hepatitis

Match between the following representing parts of the sperm and their functions and choose the correct
option.

Column 1 Column 11
(A) Head (i) Enzymes
(B) Middle piece (ii) Sperm motility

(C) Acrosome (iii) Energy

(D) Tail (iv) Genetic material
a) A-(ii), B-(iv), C-(i), D-(iii) b) A-(iv), B-(iii), C-(i), D-(ii)
c) A-(iv), B-(i), C-(ii), D-(iii) d) A-(ii), B-(i), C-(iii), D-(iv)

Two statements are given below:

Statement 1: The release of sperms into the seminiferous tubules is called spermiation.
Statement 2: Spermiogenesis is the process of formation of sperms from spermatogonia.
In the light of the above statements, choose the most appropriate answer from below:

a) Both statements 1 & 2 are correct

b) Both statements 1 & 2 are incorrect

c) Statement 1 is correct but statement 2 is incorrect

d) Statement 1 is incorrect but statement 2 is correct
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18.

19

20

In an E. coli strain, ‘i’ gene gets mutated and its product cannot bind with the inducer molecule. If the
growth medium is provided with lactose, what will be the outcome?

a) Only ‘z’ gene will get transcribed
b) z’, ‘y’, ‘a’ will be transcribed
c) ‘z’,‘y’, ‘a’ will not be translated

d) RNA polymerase will bind to the promoter region

In a plant, red fruit (R) is dominant over yellow fruit (r) and tallness (T) is dominant over shortness (t). If a
plant with RRTt genotype is crossed with a plant that is rrtt.

a) 25% will be tall with red fruit
b) 50% will be tall with red fruit
c) 75% will be tall with red fruit
d) All the offspring will be tall with red fruit.

Phenomenon of ‘industrial melanism’ demonstrates:
a) Reproductive isolation b) Natural selection
c) Geographical isolation d) Induced mutation

What function does the myometrium perform?

a) Helps in collection of the ovum after ovulation

b) It forms the birth canal

¢) Undergoes cyclical changes during menstrual cycle

d) Exhibits strong contraction during delivery of the baby

Grey matter comprises mostly of

a) myelinated axons b) unmyelinated axons

c) soma, dendrites, myelinated axons d) soma, dendrites, unmyelinated axons

Chondriospheres are formed from
a) endolysosomes b) mitochondrial aggregates
c) DNA replication d) Golgi vesicles

Which of the following amino acids play important role in urea cycle?

a) ornithine, citrulline b) citrulline , methionine
c) ornithine, glycine d) methionine, glycine

Two friends are eating together on a dining table. One of them suddenly starts coughing while swallowing
some food. This coughing would have been due to

a) pharynx b) tongue
c) diaphragm d) epiglottis

In Calvin cycle, 1 molecule of glucose is formed from

a) 6CO,+12 ATP + 12 NADPH b) 6CO,+12 ATP
c) 6CO,+18 ATP + 12 NADPH d) 6CO,+ 18 ATP + 6 NADPH
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22.
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Match the following:

Column | Column I
A. PXo bodies . larynx
B. Atactostele I1. organelle
C. Lamina propria I11. monocot
D. Arytenoid cartilage IV. intestine
a) A-l, B-Il, C-1Vv, D-ll
c) A-ll, B-1, C-lll, D-IV

Taq polymerase is used in PCR for

a) High speed
c) Low thermal stability

b)
d)

b)
d)

DNA is visualized using UV transillumination after staining with

a) Giemsa stain
c) Methylene blue

b)
d)

24. First genetically modified plant commercially released in India is

25.

a) Goldenrice
c) BtBrinjal

Which of the following is a Transgenic Plant?
a) Hirudin
c) Gluten

b)
d)

b)
d)

(4)

A-11, B-l11, C-1V, D-I
A-1V, B-1l1, C-11, D-I

High fidality
High thermal stability

Cosmic blue
Ethidium bromide

Slow ripening tomato
Bt cotton

Lysine
Flavr savr
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Answer all the questions given below. Tick (v') the correct option in the OMR SHEET. The tick must be very clear—
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a) A-iv), B-ii), C-i), D-iii)
b) A-ii), B-iv), C-i), D-iii)
c) A-iv), B-ii), C-iii), D-i)
d) A-ii), B-iv), C-iii), D-i)
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a) A-iv), B-ii), C-i), D-iii)
b) A-ii), B-iv), C-i), D-iii)
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d) A-ii), B-iv), C-iii), D-i)
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a) 6 CO2 + 12 ATP + 12 NADPH

b) 6 CO2 + 12 ATP

c) 6 CO2 + 18 ATP + 12 NADPH

d) 6 CO2 + 18 ATP + 6 NADPH

21. faefeifTes st & (mne:

A. PXo 3fe | F3g
B. SIBNCaIRGH 1. <rtie]
C. smifsr effer 1. SCNF6
D. ST WAy \VACK]
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